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ABSTRACT
In Navier-Stokes equations, we discover the exact solution by Newton potential and
time-function.
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1. Introduction
We discover the exact solution in Navier-Stokes equation by Newton potential and time function.
According NASA’s Navier-Stokes Equations(3-dimensional-unsteady),
Coordinate: (X, vy, Z), Time:f, Pressure: 0, Heat Flux: @
Density: p, Stress: 7, Reynolds Number: E’e,

Velocity Components: (u,v,w) Total Energy: £ /
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2. Exact Solution in 3-Dimentional Navier-Stokes Equation (Include time)
For we solve equations, we use Newton potential and time function. If we think the solution of Laplace

equation,



In this case, we solve Eq(1).
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Second point, in Eq(2)
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Hence, in Eq(2),in Eq(3) and in Eq(4),
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In this time
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3. Conclusion
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Therefore, the exact solution of Navier-Stokes equations (3-dimensional-unsteady) is

Pressure: O = [—po — + 0
r

Heat Flux:
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Density: p = py,

Stress: 7; = %X/X/ ﬁ =—p, R—gC}ZX"X/ 1
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Reynolds Number: /7, Plandtl Number: /.

Velocity Components: (u,v,w) = g (x, Y, z) 1
re (C-t)

Total Energy: £, = £,
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